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QUESTION 1

Click the Exhibit button. 

What does this Association Tree diagram definitively indicate? 

A. Wisconsin is mistakenly classified as a World Region. 

B. Wisconsin is not directly associated to North America. 

C. Wisconsin is associated to at least three geography records. 

D. Wisconsin is associated to a record in the triIntermediate module. 

Correct Answer: C 

 

QUESTION 2
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The design requirement for a query section is to make sure that the end user cannot remove any records from the query
section at runtime. By default, a DeAssociate action does appear. What should be done to reconfigure the section? 

A. Delete the DeAssociate action from the query section. 

B. Delete the label for the DeAssociate action in the query section. 

C. Uncheck the Active setting in the DeAssociate action for the source query. 

D. Uncheck the Pop-up setting for the DeAssociate action in the source query. 

Correct Answer: B 

 

QUESTION 3

After making a change in a form, what action must be selected to make the change visible to end users? 

A. Reset 

B. Publish 

C. Preview 

D. Validate 

Correct Answer: B 

 

QUESTION 4

How can a designer add a field to the form that will trigger a workflow when it is clicked on? 

A. Add a field of type Data and attach a workflow to its action 

B. Add a field of type Form Field and attach a workflow to its action 

C. Add a field of type Form Action and attach a workflow to its action 

D. Add a field from the Components pane and attach a workflow to its action 

Correct Answer: C 

 

QUESTION 5

A navigation collection is a hierarchical structure that contains what? 

A. portal sections 

B. navigation items 

C. only menu items 
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D. only related navigation items 

Correct Answer: B 
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